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SEVENTH SEMESTER (REVISED)
MECHATRONICS
INDUSTRIAL MANAGEMENT

Time : Three Hours Maximum Marks : 100

Note : (i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From (he
remaining questions attempt any five.

IO T AW B BN UH FA 1 (T
YR &) siffard 21 9w el # ¥ fet afer
& it |

(i1) In case of any doubt or dispute, the English
version question should be treated as final.

Tt oft werR % Wy sruE faag 6 faafa A
ST ATST 26 U9 A STfers /T ST

|. Choose the correct answer. 2 each

Tl IR & T HiR
i)  The primary object of value analysis is to reduce
(a) Overhead cost
{b) Labourcost
(c) Material cost
(d) Indirect cost
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(2)

oo Tasem =1 qea v 997 ueHT 87
(31) St =19 anTa

(&) 99 AT

(|) st AT

(]) stuemer |vTa

Wilson’s inventory model is used for

(a) “A’classitems

(b) ‘B’ classitems

(¢) ‘C’ classitems

(d) Anyclass items

‘fremm’ zaeed wiea o1 SyanT R sirar 2
(31) ‘T’ ot fit Fege *F for

(&) ‘&t =t it aegst & foR

(#) ‘&’ =t 6 aegat & T

(7) fereft oft ot <t Teegeit & fod

The reduction in wastage of resources, is called
(a) Production (b) Productivity
(c) Dispatching (d) Automation
LA F TRATT H FH AT FEAT §
(&1) gaTe (&) SeqTeeHa
(@) feedfim (7) srfermem

Fo.
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iv) What does symbol ‘D’ imply in work study?

(a) Operation
(&) Delay (d) Transportation
T et § ‘D’ e gufar @

(b) Inspection
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(4)

b) Draw a neat sketch of inventory cycles showing

the following: 9
i) Buffer stock

i) Reorder point

111) Lead time

Also explain each term
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) AT 77) frdteror
(3) ) frafafea @ it gu et =% = @
(@ (%) uftere - = tantr dif
v) Queuing theory is associated with “?-3 “."5. ) R
(a) Sales (b) Inspection time 3 ? i) Eﬁﬁg e forg
o z Z il [AEL]
(¢) Waiting time (d) Transportationtime = = )
| N (L g T & TAF IT Y auersy |
B = a) A company requires 100 units per week of an
(1) fesft (=) e wog 2 A item. Ordering cost is Rs. 150 per order. The
5 g carrying cost is 15% per year, while unit cost of
(w) wfden T () gferes & = = item is Rs. 60. Determine E.O.Q. Assume one
year is equal to 52 weeks. 9
a) Dc:l"mlethe term “management”. Explain differers TF Ut @l U ammen it 100 At wfy qHTE
31;1(:110115 of management, with the help of a hloc& =l SMEYTHAT | AR AR 150, Wi amey 2
L 2raln, k :

g : FRa w59 whred wd vl w67 s 60 .
‘veiyd’ W R aforye BIRR | weEe & e 1 33099, wra Hifd | 7w AR ww ad § 52
At w1 U YT Y g ¥ gaeEy| TG B
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(5) (6)
b} Explain line and staff organisation with the help 5. a) Define human needs. Explain Maslow’s theory
of block diagram. Also write down its advantages of human needs. 9
and disadvantages. 9
y & mmam&ﬁ &t afmfya E.ﬁfﬁ??ri{nﬂaﬁ?:
AT TAT WIH ARATEANA Rl @ e ST & wefte wte % Rigia 1 aeamEy)

THEATZA | A1 € TS W uF wihrt oft Rk

b) Write down a note on “Role of computers in

management”, 9
4. a) Differentiate between CPM and PERT. 6 VweieE # oaveger Y i’ fawa w froi
. um, w3 st wraEy| E E Terfea
b) [ljm:lu 1ht:.nelw?1‘lk, ﬁlici.crmcal pathand estnns;t;: %: :f: 0. a) Define the term ‘communication’, Write down
the duration of the project. Z £ different barriers to communication. 9
= =~ . , ., :
dead difim, ww g FaEd, 2o wfdsm a5 7 5 e 9reR Y afmie S | wwheor § e
I AT IR | $ g areft fafrsr amensit =1 wwrE
Sr.No. Activity Duration (In Days) ;=; % b) Write down importance of morale and motivation
h, foram srafer (a1 /) g 3 in industry. https://www.rgpvonline.com 9
I [.2 9 - B I A WA a1 ARDRY ¥ e = wwaTE|
2 [-3 5 X . L .
7. a) Write the different functions of production,
3 1-4 4 planning and control. Explain them briefly. 9
4 2-4 3 AT, AT T Freeon 3 v @t @ fafad
5 3-4 I I8 &Y H T |
6 4-5 7
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b) Solve by graphical method.

8. Write down short notes on any three of the
6 each

following:

a) Grievances

b) Different styles of leadership

¢) Operations research

d) ABC analysis

e} Decision making process
F/2017/1613 35|
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@

Maximize Z =3x, + 4x,
' Subjectto x, +x,< 450

and 2x, +x, < 600
if Xy, Xy >0
mifthera fafy & g Hifod |
aftrpam Z - 3x, + 4x,
Srarfes x, + x, < 450
G 2x, +x, < 600

afg X, Xy >0
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(8)
frmfafaa & @ i dm = witm feoaforat fafaa .
) A
a) ffeafy & fafim wee
¥) feramars sEam
z) uad. fem
%) Tevlam wickam
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